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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W

Warning: col ['minFVlraw',

"minFVOraw' ] is/ missing

minFVI
minFVO

.Warning: col [ ETcA2raw’,

"ETcA2'] is missing

[
—— ETcAl
—@— ETcA

ETcAlraw

1.0

0.2

0.4

0.6

0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

2750 -

2500 -

2250 -

2000 -

1750 ~

1500 ~

_ " 2 e

‘\'v —
Sa—e\/

vv

1250 A

NI

tte¢

ECopt
ECC
ECI
ECO

PHopt
PHC
PHI
PHO

btee

31.5 A

31.0

30. 5

30. 0

29.5

29.0

28.5 -

Warning: col ['WCperMraw',

"WCperMavg' ] is| missing

—@— WCperM

——
+
——

minDeltaM
avgDeltaM
stdDeltaM

30 A

28 A

26 A

24

22 -

20 A

adjFVOR

Warning: col ["adjFVIRraw’,

"adjFVIR", "ad|jFVORraw' ] is missing

2. 00

1. 50 A

1. 25 A

1.00 A

0. 75 -

FRA
FRC
FRraw
FR

—0— LAl

5 10

15 20

25 30

35

40

400 -

300 -

100 -

postFgEt
postFgEt
postFgEt

tte

raw
avg




FgDaily




¥

PPFD

v
P~ N\ -
A N e
AN ~/ Y
A \\//
\|
)
* —o—

TTTTT

EEEEE




1.0

0.8

0.6

ESo ETclis ETcPT ETcP ETcldef ETcl
IIIIIIIIIIIIIIIIIIIIIIII I

0.4

ETol

-0.2

ETbai

pR

pVPD

_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 0.4

VPD

ETcI ETcIdef ETcP ETcPT ETC|IS ESo ETol ETbal pR

| VN

PPFD

T

RH

PPFD RH



ETcl

ETol

° ° ° °
1200 - § ®e ] ° o ] °® i i %
° ° ° °
° ° ° ° °
1000 4 . - - . .
O ® ° o © ° ®9
° ° ° ° °
800 - - o - o 1 o 1 o 1 .
° ° ° ) )
° ° ° ° °
600 : ° ° - ° : . : °
® ° o ® ® ® ° ® ®
400 y w® ° | o %o o 1% o ° i % © ¢ i o 2
° o0 ® o o @ ° °s o % o ¢ o
200_ -1 [ ] -1 ) - ) - ) - ™)
o o ° % ° e e |% o ° o ®
° °
° °
1200 - ® ° . i °,
.o ° coe &°
() ]
1000 - (X ° *% o - | o o
o o 0
800 b b
o0 X
600 - b b
° °
400 . . o
200 @ . le
° ° %
20 1 ® o T T o 9
° o o° oS o
0 (79 o (] Qe °,
18 1 ° _ o
° o A
° ° ®e
[ ) L
e PR e e °
° ° o o
14 . i
% ®e
T T T T T T
° ° °
90 - . .
° °
85 - . .
© )
80 - : :
e ® [ )
&= 75 - . .
° °
® ° ° ® o ©® o
70 1 o o o T ® o
o | o400 oo ege ®
65 - . ® U 1 1 @ o
° ®
60 - o° : . ° ¢
T T T T T T
1200 1 e o i i o o
1000 B B
800 - % ° - - 3
o _o Y]
° °
600 - o © - - o®
400 0, © - T e %
oo o ° o
® ° () ® ® ° )
200 b b
o o o, o
0 T T T T T T
i ™Y i i
400 o®
o o
350 4 oF, ® E E
& oY oo’
300 - ed, . .
250 b b
°
%%
200 @ E i
150 - . : : . .
100 - . - - . .
e e i ° i o ° i
50 T T T T T T T T T T T T T T T T j|
500 1000 500 1000 14 16 18 20 60 70 80 90 0 250 500 750 1000 100 200 300 400

ETcl ETol T RH VN |



5000

4000 -

3000

2000 -

1000 ~

(L
r N
e

obs
Fit

O 1 L
-

50

100 150

baiA

baiB

1.0

1.5139

0. 0945

0.8~

0.6

0.4 -

0.2+

0.0

0.0

0.2

0.6 0.8

1.

obs

1200

1000 ~

800 -

600

400 ~

200 -

Fit vs obs: a=0.93, b=66.03

r=0.77

1.0

200

400

Fit

600

800

1000

0.8 ~

0.6

0.4 -

0.2+

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

6:15 -

7:55

8:55

10:45

12:10

13:30

15:05

§_

100

80

- 60

- 40



P6AW

A
>
-

LA IR (é

Ee 3%7’“1

el feleD
BfE

B ﬂ

B N4 N7 7 N NN (N

T

1

a0l il

i

o

T

C:

) \| 1
oA AT AT AT AT 71T

P s o P e

SNNNININ NI

[::nl
gﬁ

2088.0 (62%)

w

ZEWFREC: 2

o
X
»
(&)]




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P6AW_W, Day=23 (2025-04-28)

VI, VB®RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 6000

0.6 1 - 4000

L 2000
0.24 1200 H090 925

51
0.0 I 00 OOI__O
1

TargetEC=2600. 0,  TargetSetEC=2308. 0

TargetPH=6. 5, TargetSetPH=6.5

p |
3004 Byinit @D23 06:57: ET=1230 Fg=1440.0 Ro=154.0 2000

- 1500

200 -
- 1000
100 -

T
()]
o
o

o

3004 0 | 1 2 [ 31 415
iE [ | o5 [ fF | w5 [ mE | 5 | o5 | w5 | a5 [ W5 | 85 | RE | B [ ”E | 5 [ hE | A5 | mE | A5 [ 05 | W5 | B [ AR

T
N
o
o
o

1
200 ] ByWoFy @D23 06:57: ET=925 Fg=960.0 Ro=5.0 1500

& o —e&—©
e e e e & o - 1000

1
1

100 - | __B
1

T
()]
o
o

1.0 0

0.8 4 8 g 5 i i g 5 i i g B A B B B A B B B A B B B A

0.6

0.4+

0.2~

800 4
600 -

400 -

200 ~
0 \ A A Warhing:,‘:ol [Al

25 4

', '"PPFD_obs’] is missing

20 -

To obs'] is missing

60 -

404 —— RH _Warning: col ['RH _obs’, 'RHo obs’] is missing

0.6

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)



hour

100
:00 -

140 -
80

- 60

:35
- 40
145

:50
20
:00

:10
1 1 1 1 1 1
IN) % W QR % R
SEEC S R
Q\z\ :@' >\>é' (&\%’ %ﬁf%




PE6AW

BATHRERA (2.04) , B
FEREA LR STMMETRTT (658.0 :

BRIASERRIERE160. 0 ml.

BfiE) | BRI (D) | EE (EH/AR) | XK R

07:25 348 140.0 = {RRiB007:25 B (RFAKEE)
08:25 348 140.0 =] {Ri%e08:25 B (KAL)
09:25 348 140.0 = BRi1B009:25 B (GRFAEREE)
10:35 348 140.0 = {Ri%@10:35 B (RAERSE)
11:45 348 140.0 = BRi%ei11:45 B (GREAERSE)
12:50 348 140.0 =l {Rige12:50 B3 (RAAERSE)
14:00 348 140.0 E[ BRige14:00 Bz (CGRAERSE)
15:10 348 140.0 = Ri%e15:10 B (REAERSE)
=it 2784.0 (8%) 1120.0 3EUGHIKEC: 2265.0, PH: 6.5

160.0), FIREKRREERE
EOREBIRTC R IRAE R 2 Y (348 vs 304.0))




P6AW_W, Day=22 (2025-04-27)

[ e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e L 6000

VI, V%OﬁRv, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 5399
100

L 4000

50 1 sga..f 2000

1200 19 1200 051

I46 Warning: lcol [FVI',| "FVO’'] missing 51
0 -0
800 4w i — MW P#30.0

T FRV maxM

£ 600 - L 27.5

©

=

— 400 L 25.0

E

= 200 L 22.5
1.0 20.0

U

0.8 -

0.6 -

0.4 -

0.2 - , L

Warning: lcol ["WC1',  "WC2'] missing

0.0

TargetEC=2600. 0, TargetSetEC=2265.0 —¢  ECB*10%

® ECC
2400
€ & & ¥
___________________________ .___________________Q__ I Y A SN EU

2200 - ®
2000

7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [

® PHC
6.5 e e e e ¢ 3¢ 3¢ 3¢ 3¢ 3¢ - e e
e o o e o
°

6.0 -

400 { . e _:1 — f
5 ByInit @D23 06:57: ET=1155 Fg=1280.0 Ro=142.0 9000
= 1
S 300 -

o P @ ® - 1500
E e & ©
< 200 1 L 1000
E
= 100 1 i L 500
o —o
0 V= F- V=N A 0

400 40 1 2 3 ] 5 6 7 9 [ 10 11 |12 ] 13 ] 14 [ 15 [ 16 | 17 [ 18 ] 19 [ 20 [ 21 | 22 | 23
o~ Zn|lzZ=z| B | B | B | B | B | B g 5 5 5 5 5 5 5 5 i 5 5 5 5 & | 2000
= 1
S 300 4 P _ _
= ByEt @D22 18:37: ET=1306 Fg=1280.0 Ro=nan : L 1500
3 e—9—9
< 200 1 L 1000
E
= 100 1 i I L 500

o —&
0 V= P2t V=N D 0

400 40 1 2 3 2 5 6 7 9 [ 10 [ 11 |12 ] 13 [ 14 [ 15 ] 16 | 17 [ 18 ] 19 [ 20 [ 21 | 22 | 23
o n| | BB | BB | BB | B | BB | BB g 5 5 5 5 | B 5 5 5 | B |25 BB |B5=|%=| BB | 2000
c 1
5 3007 BylWoFy @D23 06:57: ET=1053 Fg=1120.0 Ro=1.0 L 1500
< " o & o —&—©
< -
£ 200 ! &——® | 1000
E 1
= 100 1 — I L 500

o —&

0 1 2 3 ] 5 6 7 9 [ 10 11 [ 12 ] 13 ] 14 [ 15 [ 16 | 17 [ 18 ] 19 [ 20 [ 21 | 22 | 23
MR R A A A A AN AR A A A A A AN A e AN AEZIE TN
0.6 -

0.4 -

0.2 -

0.0

1500 - - | ¢

o | _obs
—@— PPFD_obs

1000 -

500 -

31 "'.. I‘ "i".‘.'. l. ® VPD ¥

FRV (ml d-1)

|
=

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



23. 00 A

22.75

22.50

22. 25 A

22.00

21.75 A

21. 50 A

M_W

T
500

T
600

760 860
m=680,n FV0=0

T
900

T
1000

22.8

22.6 -

22. 4 -

22. 2 -

22.0

—— MW

T
680

6é5 660
m=945,n FV0=0

23.0 A

22.9 -

22.8

22.7 -

22.6 -

22.5

22. 4 -

—o— MW

945

950 955

22.

22.

22.

22.

21.

21.

22.

22.

22.

22.

m=465, FV0=0

—o—

M_w

T
465

4%0 4%5
m=745,n FV0=0

—o—

M_W

T
745

T
750 755

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

m=530, FV0=0

——

M_W

T
530

555
m=810,n FV0=0

T
540

——

M_W

T
810

T
815

820

22.

22.

22.

22.

22.

22.

22,

22.

m=610, FV0=0

—0—

M_W

T
610

615
m=880,n FV0=0

T
620

—— MW

T
880

T
885

890




hour

:30 -

125

:55

:10

:30

100

80

- 60

- 40

20



P6AW

BATRERA (2.05) , e
FREAVERS STMERR (5770 -

BRIASERRIERL140. 0 ml.

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

07:35 304 140.0 5| {Ri%@07:35 B3 (KRAERSE)
08:35 304 140.0 |Z=| 1Bi&e08:35 Bzh (RHEERSE)
10:25 304 140.0 FA| {Ri%@10:25 Bzl (GRAEEE)
11:55 304 140.0 E BRige11:55 Bz (GRAEREE)
13:10 304 140.0 E| {Rig@13:10 B3h (GRE{ERSE)
14:30 304 140.0 F BRige14:30 Bz CGRAERESE)
Bt 1824.0 (6%) 840.0 3ZHKEC: 2330.0, PH: 6.5

140.0), FIREKRREERE




P6AW_W, Day=21 (2025-04-26)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 4101
100 - 3637 - 4000
50 - 1900 - 2000
820 51w i I TFVI',|"FVO'] missi e
arning: co , missing
31 I46
0'—I -0
( mm Vi _— MW 430.0
T 600 - FRV maxM
b= -27.5
=
o -
— 400 F25.0
E
Z 200 1 L 22,5
& Jp————
1.0 20.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
TargetEC=2600. 0,  TargetSetEC=2330.0 > ECB*10% [+
A o [ ] ECC
2400
[ )
——————————————————————————— & a3 > > ¥ e - e et bbbk bbb mh e
o
[
9200 - ° o
7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
o PHC
i . ¢ = X e e
[ ) o [ ) [ ) [
o
6.0
1 :‘-2000
- 300 Bylnit @D23 06:57: ET=1019 Fg=ﬂ260.0 Ro=125.0
< I - 1500
<2 900 - @ e ®
< - 1000
>
= 100
E _500
p—— @ = @
0 0 T 1 2 T 3 T 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 8000
300 FE | 6 | HE | W& | W& | BE | A5 | RE | RE | EE | BE | & | A& | BE | A | BE | RE | RE | B | e | BE | W& | W& | A&
< 1 - 1500
%_ ByEt @D21 18:35: ET=1174 Eg=1120. 0 Ro=nan :
~ 200
< ' 8 . - 1000
>
= 100
E _500
p—— @ = @ S
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
-530-1 05 | BF | BF | BF | BF | BE | BE | BE (X[ FH [ A 5 5 5 i REARE A EREEEAE A ERAEEAEES
< I - 1500
%_ ByWoFv @D23 06:57: ET=873 Fg=8$0.0 Ro=0
~ 200
£ : &——&—9 | 000
= : & e e o
E ] 1 ~
F_100 : - 500
Ll
o —o o o —o— -y
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl fE | B [0 |5 |’ [BE | 5 | M [ | BA | PA 5 5 5 i REARE A EREEEAE A ERREEAEES
0.6 -
0.4 1
0.2 A
180 —
o | _obs
1000 - —@— PPFD_obs
500 -
n
.‘Q P ® VP

FRV (ml d-1)

|
=

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



22.75 4

22.50
22.25
22.00 A
21.75

21.50

21. 25 A

-o— MW

T
500

T
600

760 860
m=660,n FV0=0

900 10

00

22.6

22.

22.

22,

22.

22.

22.

—— MW

T
660

665
m=930,n FV0=0

T
670

22.7 A

22.

22.

22.

22.

22.

22.

—o— MW

930

935

940

22.

22.

21.

21.

21.

22.

22.

22.

22.

m=465, FV0=0

——

M_w

T
465

4%0 4%5
m=735,n FV0=0

——

M_W

T
735

T
740 745

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

m=525, FV0=0

——

M_W

T
525

530
m=800,n FV0=0

T
535

—0—

M_W

T
800

T
805

810

22.

22.

22.

22.

22.

22.

22.

22.

22.

22,

22.

22.

22.

m=585, FV0=0

—0—

M_w

T
585

590
m=860,n FV0=0

T
595

—0—

M_W

T
860

T
865

870




hour

100

0:00 -
7:40 80
8:40
60
9:40
40
11:15
14:25
-0
o
& ¢§




P6AW

BATHRERA (2.05) , e
FRAVERS STMERR (6070 :

BRIASERRIERE137. 0 ml.

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

07:40 298 130.0 5| {Rig@07:40 Bz (KRAERSE)
08:40 298 130.0 | 1Ri%e08:40 B (RFAERER)
09:40 298 130.0 = RRiB009:40 B (RFAEEE)
11:15 298 130.0 E BRige11:15 Bz CGRAEREE)
12:50 298 130.0 E| {Rig012:50 Bzh (GRE{ERSE)
14:25 298 130.0 E BRige14:25 Bz CGRAERESE)
B4t 1788.0 (6%) 780. 0 3ZHKEC: 2330.0, PH: 6.5

137.0), FIREKRREERE




P6AW_W, Day=20 (2025-04-25)

F——————F------F--——--F--—s--Fo--c--F-----—f--m--cf-----sf-mmm—-fommme=fommmm = fo oo o] 4
V1, V0. FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3637 000
100 2874 - 3000 T
e]
L 2000 E
50 =
650 732 820 22541 1000 -
Warning: lcol [FVI',| "FVO’'] missing I
15 31
800 -J L0
_ (i - —— Mw [30.0
T 600 - FRV maxM
2 L 27.5
©
e | =
- 400 L 25,0 =
E 200 L 22.5
1.0 20.0
4
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
TargetEC=2600. 0,  TargetSetEC=2330. 0 > ECB*10% [+
® ECC
2400 -
°
--------------------------- 6% = 2 R e
2200 -
7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
® PHC
o o
6.5 pm—mm e e — > > v P
6.0 -
: 4
2 300 Bylnit @D23 06:57: ET=902 Fg—9$0. 0 Ro=105.0 [ 1500 ©
S ! s
= | & o & o =
T 200 - i —0—0—0—0—0—0 L 1000 >
< 1 E
E l o
100 - - - - 500 't
- p———0—0—@ - .y °
0 V= P2\ A V- 0
0 1 2 3 ] 5 6 7 8 9 [10 ] 11 [ 12 [ 13 ] 14 [ 15 16 | 17 [ 18 | 19 | 20 | 21 | 22 | 23
Saol B | B [ BE [ #E [ 65 | 65 | 65 | 65 | A5 | A5 | a5 | o5 [ o5 [ o5 [ w5 [ w5 [E [ B | WF | 68 | 65 | A6 | B | A | 1500
c 1 c
= ByEt @D20 18:37: ET=974 Fg=840.0 Ro=nan ! =
T 200 - e—e o —© L 1000 >
< e e e o E
E 5
100 - - 500 't
L o —& o &—© °
0 V= P2\ A V- A 0
0 1 2 3 ] 5 6 7 8 9 [10] 11 [ 12 13 ] 14 15 16 | 17 [ 18 | 19 | 20 | 21 | 22 | 23
Sa0l B B [ B [ B [2X|2x|2=]| 6K | B | |6 |6 |65 [ [ w5 [ w5 (65 [ 65 [ 68 | 68 | 65 | A5 | B | B | 1500
c 1 c
= ByWoFv @D23 06:57: ET=754 Fg=780.0 Ro=0 =
~ B ~N
=200 - 1000 =
> ~—
E o,
100 - - 500 't
= & —& o &——o °
T T2 T3 1T 213516 0
osl B | B | B [B |[ZR[Z=|%5
0.6
0.4
0.2
0.0
1500 3 — | N
o | _obs
1000 - —8— PPFD_obs
500




22. 50 A
22. 25 A
22.00 A
21.75 A ®
21. 50 A .:.
21.25 -o— MW
T T T T T
500 600 700 800 900
m=730,m FV0=0
23.5 A
—— MW
23.0 -
22.5 -
—0—0—0—0—000009
22.0 -
21.5 -

T
734

T T T T T
736 738 740 742 744

m=470, FV0=0

22.0 A

21.8 -

21.6

21.4 4

21.2 A

——

M_w

T
470

T T
475 480

m=810,m FV0=0

22.4 4

22.2 -

22.0 A

21.8 -

—o— MW

T
810

T
815 820

m=530, FV0=0

22. 4

22.3 A

22.2

22.1 -

22.0

—— MW

T
530

555 5&0
m=880,n FV0=0

22. 4 -

22.2

22.0

21.8 A

—— MW

T
880

T
885 890

m=640, FV0=0

22.5 A - MW
22.0 A
21.5 A ¢
21.0 A
20.5 A
650 650 6é0




hour

100

7:25
80
8:25
10:10 60
11:45 40
13:10
20
14:40
1 1 1 1 _O
% & & B XS B
FEE L EEE,




PE6AW

BATIRERA (2.00) , S
FEREALERER STMMETRT (480.0 -

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

07:25 234 120.0 5| {Rig@07:25 B3 (KRAERSE)
08:25 234 120.0 El 1BRi&e08:25 Bz (RFAEREE)
10:10 234 120.0 El BRi&e10:10 Bzl (GGRAEESE)
11:45 234 120.0 S {Rige11:45 B (REAERSE)
13:10 234 120.0 E| {Rig@13:10 Bzh (GRE{ERSE)
14:40 234 120.0 5| 1RiRe14:40 Bz (REAEES)
Bt 1404.0 (6%) 720.0 3ZHKEC: 2330.0, PH: 6.5

108.0), FIREKRREERE

EIREBAHCR AR ELZ I (234 vs 261.0))

BRIASERRIERE108. 0 ml.




P6AW_W, Day=19 (2025-04-24)

100 - VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2874 | 3000
- 2000
50
8 I19 Warning: lcol [FVI',| "FVO’'] missing I15 .
3 -
% FRV maxM L 57 5
& 400
o -25.0
E
- 200 - 22.5
%
o
-20.0
1.0
1
0. 8 A
0.6
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
TargetEC=2600. 0,  TargetSetEC=2330.0 > ECB*10% [+
o ECC
2400 -
° ®
------------------------------ & Y X 2 T T
o
2200 A
7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
o PHC
() [
6.5 e e e ¢ > > v et —————
[ ]
o ®
6.0 -
n
g 200 - - 1000
= \ 4 & ©
~ S o @
£
= 100 - 500
o
0 P a P 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 HEE ES == E3 ES ES
i~ B B B B B B B B B B B B B B B B B B B B B B B
< 200 - 1 - 1000
= ByEt @D19 18:39: ET=713 Fg=660. 0 Ro=nan —& e & ©
<
g @ e e o
= 100 - 500
o
p—— @ © & S
0 o PS a P . 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE H ES ES == E3 ES ES == E3 HEE ES == E3 ES ES
i~ B B B B B B B B B B B B B B B B B B B B B B B
< 200 - I - 1000
= ByWoFv @D23 06:58: ET=711 |Fg=7R0.0 Ro=3.0 —o—& e & ©
N €} = @ ©
<
= 100 - 500
o
p—— @ © @ e S
1.0 o P a P . 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE H ES ES == E3 ES ES == E3 ES ES == E3 ES ES
0.84 "8 B B B B B B B B B B B B B B B B B B B B B B
0.6
0.4
0.2 A
0.0
—_— 4
1500 -
o | _obs
—@— PPFD_obs
1000 -
500
28
v X — T 4
20 . ‘ : o T obs
o To_obs
15

FRV (ml d-1)

gI
=

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



204 —® MW
21.5
21.0
20.5
T T T T T
500 600 700 800 900
m=740,m FV0=0
2201 o
21.8
21.6
21. 4
T T T
740 745 750

m=525, FV0=0

21.2 A

21.0 -

20. 8 A

20.6

20. 4 -

—o—

M_W

T
525

550 5é5
m=830,n FV0=0

22.0 -

21.8 A

21.6

21.4 -

—o—

M_W

T
830

T
835 840

21.

21.

21.

21.

21.

21.

21.

22.

22.

21.

21.

21.

21.

m=585, FV0=0

—o—

M_W

585

5é0 565
m=905,n FV0=0

—o—

M_W

905

T
910 915

21.

21.

21.

21.

21.

21.

21.

m=660, FV0=0

—o—

M_w

660

T
665 670




